
57-2600

to fit vehicles with a body lift.

FORD
2017-19 F250 / F350 / F450
V8-6.7L Turbo Diesel

       Description		 Qty.    Part #	        Description		 Qty.    Part #	        Description		 Qty.    Part #	

A HOSE CLAMP #72 2 08671

B HOSE; 4-1/2" ID X 3" L HUMP 1 08695

C INTAKE TUBE (LU) 1 087338A

D GASKET; 57-2556, 3/16 PORON 1 09069

E ADAPTOR; 57-2556, NYLON 1 21515-1

F WASHER; 6MM FLAT, SS 7 08269

G BOLT; M6 X 1.00 X 16MM, SS 2 07730

H BOLT; M4 - 0.7 8MM, A/H CAP 2 07733

I GROMMET; 1"OD,1/2"ID,1/2" 1 08064

J MAF EXTENSION HARNESS 1 21780

K STUD; 6MM-1.00 X 30MM 2 1-107

L NUT; 6MM-1.00 SERRATED 2 444.460.04

M AIRBOX 1 087407

N BOLT; 6MM-1.00 X 16MM, SS 1 07812

O WASHER, M6 SPLIT LOCK ZINC 1 1-3025

P MOUNT, PLASTIC AIRBOX 1 8-186-1

Q HOSE CLAMP; #104 1 08697

R FILTER CHARGER 1 RC-5179

S LID,AIRBOX 1 087408

T BOLT; M6-1.00 X 25MM, SS 4 07729

U CABLE TIES; 11" BLACK 1 21590

V SPACER 1 06544

PARTS LIST:

A

C

D

E
F

F

F G

H

I

J

KL

N

MV

U

OF
P

Q

R

S

T

T

B

A

PARTS BREAKDOWN




